Math 2602 Finite and Linear Math Fall 14

Quiz 11°

See second page.

1. Consider the graphs G and H defined as

G = ({a,b,c,d, e}, {ab,ac,ad, be, ce, de}),
H = ({v,w,z,y, 2}, {vw, vz, wy, £Y, T2, y%}).

(a) Are G and H isomorphic? You need not justify your answer. pts

Yes. @v I}

(b) Is the map ¢ : {a,b,¢c,d,e} = {v,w,z,y, 2} defined below an isomorphism from g
to H? Justify your answer for full credit. (5 pts.)
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(c) Is the map 4 : {a,b,¢,d,e} = {v,w,x,y, 2} defined below an isomorphism from G
to H? Justify your answer for full credit. (5 pts.)
Pla) =z, Pb)=v, P(c)=y,
P(d) =v, Y(e)=w.
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2. The models for two unspecified graphs are shown below. Prove that the graphs whose models
are shown are isomorphic or prove that no isomorphism exists. (8 pts.)
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